SYANIDIINIG

MACHINE

C€

BEFORE USING BE SURE TO READ THIS MANUAL
* INSTRUCTION MANUAL -



INDEX

¢ TECHNICAL DATA.... snssnane --Page 1
GETTING TO KNOW YDUR MACHINF
@ UNPACKING AND CHECKING LIS T oo reossssssemses seessasesemsissassess soesstasmmssesestess s st sastsesssesmmns Page 2
RASREMBLEY OF BYTTINGE v e s e non o punencn s e Page 3
® ADJUSTMENT OF SANDING BELT....oc oot sressssssssssssssse s s sssnsssssssmsmsnsnsns ..Page 4
Belt tracking adjustment & Belt tension adjustment
*REPLACEMENT OF BELT . s s D ADE. 5
S IMPORTANT NUTICE POR OB i i il maiiiimeisisiimii A g e
* REPLACEMENT OF PRIME WHEBL ..o imiisisismoaismsmniin: PAES 8
¢ EXAMPLE OF OPERATING . R TS e T
* DIAGRAM .. . e PAgE B
® PART LIST ..Page 9
¢ CABINET WDRKSTAND {Dptmnal]
Unpacking And Checking List ... ceemeeereererersrmessesensernenneee P EEE 10
Assembly Procedure .. i ...Page 11
¢ ELECTRICAL LDNNECTIDNIDISCDNNECTIDN & DPERA TIGN e BgE 12
¢ ELECTRICAL COMPONENT PART LIST & CIRCUIT DIﬂGRAM Page 13

SAFETY RULES FOR ALL POWER TOOLS

L.Read and become familiar with the en-
lire instruction manupal. Learn the tool's
applications, limitations and possible
hazards.

2.Earth all wools. If the tool is equipped
with a three-prong plug, it must be
plugged into a three-contact electric
outlet. The third prong is a ground to
provide protection against accidental
electrical shock. If an adapter is used
to accommodate a two-contact outlet,
the adapior’s grounding lug must be
connected to 8 known ground. Never
remove the thrid prong on a three-
prong plug.

3.Check damaged parts. A guard or any
other part that is damaged should be
checked to ensure that it will operate
properly and perform  its intended
function before the tool is used
further. Check for proper alignment
of moving parts and for possible
broken parts, loose mountings, or any
other condition that could affect the
tool’s operation. A guard or other
damaged part should be properly re-
paired or replaced.

4 Disconnect power before servicing
and when changing accessories such
as blades, cutiers.

5Keep guards in place and in working
order.

6 Protect your eyes from being injured
by objects thrown by a power tool.
Always wear safety glasses or safety
goggles.

T.Wear a face mask or dust mask if the
cutting operation produces dust,

EDont force the tool It will give a
better and safer performance when
vsed on jobs for which it was de
signed,

9 Avoid accidental starting. Ensure
that the power switch is in the OFF
position before plogging in  the
power cord. Remove the switch when
the tool i5 not being wsed.

10.Remove adjusting keys and wrenches,
Ensure that keys and adjusting
wrenches are removed from the tool
before turning il on.

11.Drugs, alcohol, and medication. Do
not operate tool if you are under the
influence of drugs, alcohol, or medica-
tion that could effect your ability to
use the tool properly.

12.Use recommended accessories. Using
improper  accessories can be
hazardous. If in doubt, check the in-
struction manual.

13.Never stand on a tool. Falls can
resuli in injury.
14 Never leave a tool running

unattended, Turn the power swiich
OFF, Don't leave the tool until it has
come to a complete siop,

15.Always remove the power cord Elug
from the electric outlet when making
adjustments, changing fnms. cleaning,
or working on the tool.

16.Avoid dangerous conditions. Don't
use power tools in wet or damp
areas or expose them to rain, Kee
your work area clean and wr.lr-
lighted Do not use power tools in
areas where fumes from paint,
solvents, or flammable liguids pose a
potential hazard,

ITKeep wisitors and children away,
Other people should keep a safe

distance from the work area, especially
when the tool is operating.

18.Use the proper tool.Don't force a tool
to do a job for which it was not de-
signed,

19 Keep tools in top condition. Keep them
clean and sharp for the best and safest
performance. Follow the instructions
for changing accessories and lubricat-
ing,

20.5¢ecure all work. When practical use
clamps or a vise to hold work. It is
safer than using your hands and pre-
vents round or odd-shaped pieces from
turming.

21Don"t overreach. Keep proper fooling
and balance at all times. Wear oil-
resisiant rubber-soled footwear, Keep

the floor clear of oil, scrap wood, and
other debris.
22.Wear proper clothing and . if neces

sary, protective hair covering. Loose
clothing or jewelry can get caught in
moving parts.

23 Make the workshop childproof with
padlocks, master switches, or by
removing starter keys.



TECHNICAL DATA

MODEL GS4481/GS4483/331C
Motor(kw output) 0.75
Phase 1Ph/3Ph/3Ph
Sanding Belt (mm) 100 x 1220
Belt Speed 19m / sec.
Driving Wheel (mm) @126 x 105
Flat Grinding Surface (mm) 320x105
Dimension (mm L x W x H) 650 x 380 x 260
Machine Height (mm W/ Stand) 1070
Net Weight (kgs) 26.5
Stand (mm L xWxH) 380 x 395x810

GETTING TO KENOW YOUR MACHINE

Working Area (1)
Eye Shield

Movable Cover

Motor Sanding Stop Plate
Switch Protection Cover
Sanding Belt
Working
2
Belt Tension Lever Aree %)
Tracking Knob
Working Table
Power Cord
GS4481
230V /50H; 4.3A Dust Collector
GS4483 331C o
400V /50H; 18A Cabinet Stand

#(GS4483 331C,Power cord connect to

hand-operated disconnecting device. | Noise Level:About 75 dB(A)]




UNPACKING AND CHECKING LIST

Loose Parts in Rectangle Box n Main Body

n Sanding Stop Plate & Tool

(D'Sanding Stop Plate
@6mm Hex. Wrench
@12mm Open Spanner
@Socket Wrench

Parts ; eccription Q

=

Name

Eye Shield

Support Plate

Hex. Bolt 1/4" X 1/2"L
Washer M6X 18% 2
Spring Washer 1/4"
Wing Nut 1/4"

Screw 3/16" X 7/16"L
Washer 3/16" X 12 X0.8
Hex. Nut 3/16"

z =
o0 B - |Se
e

Bl B Bl o e o e e




ASSEMBLY OF FITTINGS

1|The Set Up of Sanding Stop Plate

® Push down the belt tension lever to gain ten-
sion. The belt tension was totally released be-
fore delivery ex works.

® [nstall the sanding stop plate and make sure it
does not touch the sanding belt.

O — ¥ |
= | =

e | g

A safety distance between the | Sanding stop plate touches
sanding stop plate and sanding | sanding belt.
el

2| The Set Up of Working Table

Put working table at correct position and keep
proper distance to the sanding belt.

A 3mm distance between
1 working table and sand-
—" ing belt is required.

3|The Set Up of Dust Collector

Fix dust collector unit by using two screws on %

each side. Read page 8 for more information.

4 |The Set Up of Eye Shield

Install the eyeshield to the machine and make
necessary adjustment to gain the maximum
protection. Read page 8 (exploded view) for
more information.

5|The Adjustment of Eye Shield




ADJUSTMENT OF SANDING BELT

Belt Tracking Adjustment

1.Plug into an elec-
trical inlet on ma-
chine body before
connect with pow-

er supply.

2. Turn tracking
knob clockwise to
make sanding belt e
toward left side

g P

or turn counter-clockwise to make belt toward right side. Note: It 1s only allowed a tiny adjustment

at each turn.

3.Rotate belt by hand, meanwhile adjust tracking knob.

4.Control the switch for a short on/off starting with left hand, meanwhile put right hand on tracking

knob for clockwise or counter turnning till the belt runs stably between the two rollers.

Belt Tension Adjustment

Be sure the switch is on OFF position.

Measure the belt tension from the bottom by
thumb press. The tension was always well adjust-
ed before delivery ex works. The adjustment is
required when belt was used for a period of time
and get loosed or when renewing the belt.

The Procedure for Belt Tension Ad just-
ment.
1.0pen the steel cover.

Z;Turn the belt tension lever clockwise about 120
to release the tension.,

3.The hex. nut is designed to hold the adjusting
rod in position against the vibration during oper-
ation. This nut needs to be loosened before mak-
ing adjustment, and tightened after adjustment.

4 If the belt tension is too low.
Turn adjusting rod (part No. 14) upward to gain
tension.
If the belt tension is too high.
Turn adjusting rod (parts No. 14)downward to
release tension.

5.Tips for adjustment.
Each turning of adjusting rod makes rubber
roller outward (of inward) about 2.5mm.
A micro adjustment, 0.42mm for each phase
turning of adjusting rod, is recommended.

6.Close the steel cover and push down the belt

tension lever.

T.After this adjustment, try with Tracking Adjust-
ment.

v L




REPLACEMENT OF BELT

1.Pull belt tension lever upward.

2.Remove two scrcws, open the protection cover
and remove the used belt.

3.Locate the new belt on two rollers.
4 .Push belt tension lever downward.

5.Rotate belt by hand, meanwhile adjust tracking
knob as a pretest before power test.

6.Locate protection cover then use left hand to
control the switch with a short onfoff starting,
meanwhile put right hand on tracking knob for
clockwise or counter turning till the belt runs
stably between the two rollers.

7.Check belt tension. If the tension is improper
for working, then begin the adjustment proce-
dures (see page 4) until the tension is satisfac-
tory.

8.Repeat the procedures of hand test and power
test for belt runs stably between the two rollers.

IMPORTANT NOTICE FOR CE

Handling of Machine

1.The total weight of this machinz must be ensured before handling.
2.1t is better to handle this machine with the help of lifting tools.

Environment Requirements for Installation.

1.Be sure to provide sufficient light for operation according to the codes or regulations published for
local area. If you do not get the information about lighting, a light intensity of 300 Lux is the least
value to be supplied.

2.The place where machine install must be flat and big enough for the operation,

Noise Level

1.The noise level of this machine is about 75 db(A) during operation.
2.While taking provisions for the risk of noise, the noise level of working environment should be
taken into consideration also.



REPLACEMENT OF PRIME WHEEL

[1] Pull belt tension lever upward. n

Take off the movable cover and open the pro-
tection cover by remove five screws, then re-
move the belt.

2 | Remove the motor rear cover by remove two E
SCTEWS.

Use screwdriver or steel bar to insert the hole

at the end of motor shaft, then hold the bar

tighten and keep motor shaft steady.

3| Use provided deep socket to plug into the nut
at the other end of motor shaft., Turn screw-
driver and socket wrench at reversed direc-
tion, this will loosen the nut of roller.

4 | Take off the nut, used prime (aluminium)
roller is removed.
Reload new prime roller.




EXAMPLE OF OPERATING

Example 1:

Roller sanding
Hold workpiece firmly by hand and use working
table as support for roller sanding.

Example 2:

Surface sanding
Take off movable cover. Place workpiece on the
top of belt for sanding of large surface.

Example 3:

Sanding job is creating dust of all kinds which
pollutes your working room. This machine pro-
vides a dust collector and chute of ¢35mm. Use
your own connector and hose to link with dust
collecting system to ensure the best comfortable
working environment.

M : L
7
L L.
\ = -
S0
SR

& e e o KA




NVIDVIA



“Auo Anownaala aseyd | 10] 66°L8°0R'CRION SR,

MmaI0g 001 MaI198 +9 yeys TE
jorpay uieng 66 % ny xaf £9 ysng 1€
JAGERAN INH 86 IDYSE AN 9 ge6059 0u'ny Furresg [[ed o€
N a0 L6 prays kg 19 Bury deug 62
m_...”““m MM 1032310 1s0(] 09 aa[joy Jeqqny 8T
. . I9YSEA U] 76 o "xaH 65 N CxaH LT
MOIDT £6 1358 M 2C Jaj[oy WnUitmny o7
xog Suniip rll s} MIIDG LS IZA0T) I[qUAOLA] &7
ADIIIUUOTY) ITTAN a6 a4 1moddng oc uoddng 1amo] ¥z
Bupyaed 06 N Surp - a1wyg “doig yoorg €T
oo b MﬂE 68 ;e]g doig Burpuswg +C maing den il
19405 ha:u.nn.um MM " I[qe ]l Surjioss £S woddng saddpny 1Z
1oqtoede) Suruuny O * IS E M zC a1e]d dois Suudsg 0z
anaalg sooude) CH # maiog ded 89 Jundg 6l
MIIDG re ISYSE 0c qoorg Sunsnlpw |1
Furyorg £8 Sundg 6 utg LT
I3A0D XOF SULITM <8 gouy Suryowi], 2t yoolg JTuipils a1
PIOD Jamod 18 12400 Ly N X9 S1
ke Pk o8 B[] 19400 o poy Sunsalpy !
P HG.E“..%M”M MM ISUSE N, FAEMN et Yo" §said £l
: Mo195 LL MIIDG JIA0D) +t jooadasooT-inp “xXoH Z1
XOF YMNIMS 9L uld Sunsnlpy EF wie 7y It
I9A00) XOH YNIMS L a4 ua1yfr ] -ussoo] v HIRA MOITY 01
Ma108 L Peys we) i+ woddng 119g 6
MBI EL YJeyS MaIng O 2184 Jooid 1sng] g
woddng juorg zl qouy [1eg 6¢ ysng i
€26059 UMY Fupiwag [[vH L Nog "XsH g€ ed "xaHg 9
i “M”-Mm 0L I3A0) UOT1D31044 LE aseg =
776059 0u Ny FULIESI{ ﬁnM MW Hegs "xaH 9€ i L B ¥
uoddng 1way L9 I2Yse M SE 1oysem Sundg €
ueq 99 1ag Surpueg vE Ma12g z
101221014 Jeay cQ Sury deug £E 1og "xaH I

JNYN SLHVd ‘ON "434 JNVN S1HYd ‘ON "43H JNVN S1HYd ‘ON "43H

LSI'T SLAVd




10

ABOUT WORKSTAND [Optional]
Unpacking and checking list
*Universal Workstand *Cabinet Workstand
Ref. Parts Name Q'ty Ref. Parts Name Q'ty
No . /Description No . /Description
1 Stand Leg (front & rear) 2 1 Stand 1
: 2 B Plate (L-GR12 1
2 Stand Leg (left & right) 2 “““}'%:,.DHSE oy 443} :
3 Stand Top 1 3 Hex Bolt(M8X20L) 8
4 Square Neck Bolt (5/16"18NCx5/8") 4 4 Spring Washer(MB8) 12
5  Hex Eﬂ]t{5{16:-131"5(:.\:2"..'.'])53!}53 4 5 Washer(M8x30x3t) 4
Hex. Bolt (5/167-1BNCx3/4"-G5444) 4 6 Washer(M8x18x21) 3
6 Hex Nut (5/16%) 8 7 Hex Bolt(M8x65L-DS303 4
: {M8x4 L-GR]E;GSME% 4
7 Spring Washer (M8) g8
8 Cooler Boxer 1
] Washer (MBx18X2t) 12 9 Screw(Méx16) 2
100 Washer{M6x16x21) 6
11 Spring Washer(M6) 4
12 Hex Bolt{M6x12L) 4
13 Stand Top 1

Pad for GS448
Hex Nut{M&)




ELECTRICAL CONNECTION/DISCONNECTION & OPERATION

i

FOR THREE PHASE

1. Electrical connection: :

1.1.A cable with four wires is equipped to connect your machine into the 3 phase power supply.

Please
connect your machine into the power supply with hand-operated disconnecting
device, which is in compliance with subclause 5.3 of EN60204-1, such as no fuse breaker or
plug/socket combination.

1.2.For the protection of control device, we recommend the operator to supply & fuse with 6
amp. current rating of fuse, and the total length between fuse and connection terminal
shall not exceed 1.5 m.

1.3. The exact power source voltage, frequency, and number of phase shall be checked
according to the installation diagram and circuit diagram.

1.4. The correct direction of sander should be checked after connecting.

2. Electrical disconnection:
2.1.The disconnection is carried out by hand-operated disconnecting device.

2.2.Be sure to disconnect this machine from power source, when you want to stop the job, mainte-
nance, and adjustment.

3. Grounding.

The grounding of the sander is carried out by connecting the Yellow/green terminal of
supply cable o the grounding terminal of power source. Be sure to ground your machine before
connecting machine to power source in any situation.
| WARNING! |
Do not disconnect grounding terminal before disconnecting power source.

FOR SINGLE PHASE.

1. The connection, disconnection, and grounding is carried out through the plug, equipped on the
sander. For the safety reason, Do not change this plug into any the other type in any
situation.

2. For the protection of control device, we recommend the operator to supply a fuse with 10A
current rating of fuse, and the total length between fuse and connection terminal shall not
exceed 1.5 m.

3. The exact power source voltage, frequency, and number of phase shall be checked
according to the installation diagram and circuit diagram.

[ WARNING! |

Ensure that the power switch is in OFF position before electrical connection and
disconnection.

OPERATION. ~

1. "START" : Push the button marked with " | ".
2. "STOP" : Push the button marked with " 0 ",

MAINTENANCE:

1.Be sure to disconnect the sander from power source.

2.If motor being overload, the overload relay will be active.
If you want to reset sander. open control enclosure and then push the
reseted button of overload relay.



Electrical circuit diagram.

GS4483,331C GS4481
o (RECOM) soe  (RECOM
400V :'; 3 IW"*L U P
\ L | P
L oy |'|_¢ LI—-E—-—{J:
L i 7. = -
T 17 ; .
—s .Jr., sBl_L, :
i i F“ ! L:III" (b} r'_'-l"_'-
E:;:;:Lm :ﬂ'?ﬁmm} o 36 :|"L 0.7 Smnt -:ql.ur:m-lcm i 0 mm’ :.L.‘ E‘!smnf
:Ki\-'l Li| Laf Ly 17 B :KH !
; -4 -4 KM | C -5~
SB2
KM E--
FR -l -4 l j} FR --3--3
X5 - K3 A
P XP2
LH W W v
L L0 mm'
G54483 3c 0.75k'W
l O.T5kW 0.75kW 230V
! 400y :-%T' 4,34
PE 0 75mnf L ;..:;ﬂrpm leﬁﬁ'rprn PE | 0 mm _ i
Electrical components Parts List.
Itom Description & Function |Technical Data Remark
Designation
D.O.L. starter IP 54
KM Magnetic contactor 600 Vac, 20A
1.4~2.2 VDE 0660
FR Overload relay for three phase =3 h IEC 947
FR Overload relay for single phase Jﬁ;ﬁ— A
SB1 push button for OFF
sSB2 push button for ON
XS Socket for three phase 500 Vac,10A
Socket for single phase 250 Vac,15A S & csa wL
XP Plug for three phase 500 Vac,10A
XP1 Plug for single phase 250Vac,16A = EHDNE L TE &0
XP2 250Vac,10A NS i a0
Cable for 3~ VCTF, 4x0.75mm?*
Cable for 1~ HOS5VV-F, 3x1.0mm?




EC DECLARATION OF CONFORMITY

According to the following EC Directive
-Machinery Directive: 98/37/EEC
-EMC Directive : 89/336/EEC, as amended by 92/31/EEC, and 93/68/EEC
-Low-Voltage Directive: 73/23/EEC, as amended by93/68/EEC

The undersigned, Morgan Liu, representing Shine Tool Electric Co., Ltd., No.182, Sec.J, Ming

Sheng Rd, Ta Ya, Taichung, Taiwan, R.O.C. manufacturer, declares that the machine described
hereafter:
Belt Sander;
Model: GS4481, 4483; (GS4591, 4593;

Provided that it is used and maintained in accordance with the generally accepted codes of good
practice and the recommendations of the instructions manual, meets the essential safety and health
requirements of the Machinery Directive, EMC Directive and Low Voltage Directive.

For the most specific risks of this machine, safety and compliance with the essential requirements of
the Directive has been based on elements of:

-the European Standard EN292-1: 1991-Safety of Machinery-Basic concepts, general principles for design.
Part 1:Basic terminology, methodology.

-the European Standard EN292-2: 1991-Safety of Machinery-Basic concepts, general principles for design.

Part 2:Technical principles and specifications.
-the European Standard ENG0204-1: 1994-Safety of machinery-Electrical equipment of machines.

Part 1:General requirements.
-the European Standard EN55014: 1992- limits and methods of measurement of radio disturbance characteristics

of household electrical appliances, portable tools and similar apparatus.
-the European Standard EN55104; 1994- immunity requirements for household appliances tools and similar apparatus.
-the European Standard EN50081-1: 1994-Generic emission standard.

Part |: Residual, commercial and light industry.
-the European Standard EN50082-1: 1994-Generic immunity standard

Part 1. Residual, commercial and light industry
Date:
.-""-- "
Signature: LM ) QE:"”%
L

Qualification: Directeur




GRE3IT/O3IEW b
GRBIIT/O3IKW

GRI031-2P/0.75KW
O
& GR1033-2P/0.TSKW %ﬁ-’ﬁ
GR1031-4P/0.56KW
GR1033-4P/0.S6KW GRI223/1.5KW

-Dust Collector —

DCP2ZS0TDITEW
DCP2503/0.3TKW

DISC SANDER—

~L-

GS44RU0.75KW GS4591/1 5EW DE3051-2P/. 1 2KW DS3I051-4P0.6 KW
GS4483/0 TSEEW GS4593/1.5KW D530531-2P/. 1 2KEW DSI0SI-4P06 KW




